
3. Conservation of Momentum: Perfectly Inelastic
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m = 1,000 kg 3,000 kg

v = choose FOR ALL PROBLEMS, ASSUME THERE 
ARE NO OUTSIDE FORCES, AND THAT 
THE OBJECTS STICK TOGETHER AFTER 
THE COLLISION FOR #1-#3 .

5 m/s

v = ?
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v = choose

3 kg 2 kg

12 m/sv = ?
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v = ?

8 m/s

60 kg

58 kg

2 kg

7 m/s

(Choose an initial velocity between 5 
and 25 m/s.)

(choose a final 
velocity for the 
two together 
between -10 
and +10 m/s)

90 kg 150 kg

v = choose 5 m/s

(choose an initial v for the 90 kg player between 5 and 10 m/s)

v = ?

(Nothing to 
choose.)
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